[ number of missing inner layers |

1e Entries 82

E Mean 0

r Std Dev 0

L T T

10°E Entries 90

E 1 | Mean 0

L N Std Dev 0

-2 Veeeeteeiiti..iiooo]

10 E Entries 133

E Mean 0

r Std Dev 0

10°F i EEER EEEL CERR |

E Entries 127

r Mean 0

10_4 Std Dev 0

= Entries 135

- Mean 0

10—5__ Std Dev 0

01956.... b b b b b e b by
= C
o C

—

09005 1 15 2 25 3 35 4 45 5

[ number of missing outer layers |

1g Entries 82
E Mean 0.02439
r Std Dev 0.1543
AL —— [
10°E Entries 90
o Mean 0.03333
o Std Dev 0.1795
2L eeteeiatei.iie...
10 3 Entries 133
F ' Mean 0.01504
B N Std Dev 0.1217
10’3=— I EEEEY EEEEE EERE |
E Entries
r Mean
Std Dev
Al e
107k ;
F Entries
- Mean
-5 .. Std Dev.
10 °E —
10—6_....!........----l--..l....I....I....I....I....
1.4
1.2
0

o
IS ; i
o d 1 b
1 ]
0.95 : - :
=3 -2 1 2 3
track n
Entries 104038
Mean 2.189
Std Dev 6.207
: I
Entries 106009
Mean 2.178
Std Dev 6.087
: I
Entries 105379
ean 2173
Dev 6.027
|

10

Entride 105743
Mean 2.167
Std D 6.023

Entries 106842
Mean 217
6.046

Std Dev

Ratio

Entries

Entries

Mean 17.33
Std Dev 2.427
Entries 133
Mean 17.65
Std Dev 2.813
Entries 127
1 Mean 17.6
Std Dev 2.826
Entries 135
Mean 17.73

Std Dev.

track hits

Entries

Entries

Mean 36.09

| Std Dev 30.17
E Entries 133
- Mean 35.87
L Std Dev 30.48
F Entries 141
r Mean 35.74
30.03

Std Dev




	Contents
	Page 1


